IIporno3 Brent $current cp.mecsiu. u cp. roj.
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IIporno3 Brent $Scurrent cp.mecs4. ot 12.12.17, 12.12.19 u ot 25.07.20

--=-=-Brent Scurrent cp.mecad. (nporHos ot 12.12.19)

-----TporHo3 Brent Scurrent ot 12.12.17 cp. mecau.

---=-Brent Scurrent cp.mecay. (nporHo3 ot 25.07.2020)

Brent Scurrent cp. mecau. (paxt Ha 20.07.2020)

- £0°5¢0¢

- 10°5¢0¢

- £0'vC0¢C

- T0'¥¢0¢

- L0°€C0C

- T0'€C0¢C

- £0°¢C0¢

- 10°¢¢0¢

- £0°T¢0¢

- T0°T¢0¢

- £0°0¢0¢

- 10°0¢0¢

- L0°610¢

- T0°610¢

- L0°8T0¢C

- T0'8T0¢

- L0°LT10C

- T0°LT0¢C

- £079T0¢

- T0'9T0¢

- £0°STOC

100 -
90
80 -
70 |
60 -
50 -
40 -
30 |

20 -

T0°'STOC

o
i




IIporno3 Brent $Scurrent cp.mecs4. ot 12.12.17, 12.12.19 u ot 25.05.2020, 25.07.20

====Brent Scurrent cp.mecau. (nporHos ot 25.07.2020)

-----Brent Scurrent cp.mecau. (nporHos ot 25.05.2020)

-----Brent Scurrent cp.mecau. (nporHos ot 12.12.19)

-----TporHo3 Brent Scurrent ot 12.12.17 cp. mecau.

Brent Scurrent cp. mecau. (dakrt Ha 20.07.2020)
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AE 2,5

Brent Scurrent cp.rog, (dbakr)

= =A== Brent Scurrent cp.rog. (nporHos ot 25.07.2020)
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